Basics of Mechanical Engineering

Sample Questions Set-1

Which of the following element is used to connect two shafts
A. Axle B. Gear drive
C. Both of above D. None of above

ol ActiHiell 53] NAN2 A 2Lg2A ASCll cAURNA B?
A Rad B. ollar g8«
C. Gurell vl D. Gulsct ottt

Full form of I.C. engine is

A. Internal custom engine B. Inter carburettor engine
C. Internal combustion engine D. Initial combustion engine
AU AL Aoote] Y3 sl A 0,

A Bo2Rald s22H Aol B. 8022 sl03e2 Aol
C. go2rolcl 510120l Aol D gollellact s1012lot oot
Fuel used in C.1. engine is

A. Petrol B. Uranium

C. Diesel D. All of above
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A Aae B. 3@an

C. xa D. Gulsct ottt

Which one of the following is not an example of fasteners?

A. Hammer B  Hair pin clip
C. Rivet D All of above

ol At Hi el 53] $l201R1o] GElER0 otell?
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C. dae D. Guilsd ot
Which one of the following is not a form of thread?

A. Single Start thread B  Square Thread
C. Withworth Thread D Buttress
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A Rbdeld s B. a2 3s
C. Quad s D. w3

6. Identify type of nut from the following option.

A. Hexagonal Nut B. X Nut

C. Set screw Nut D. Eyenuts
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A 3soollelct ol2 B. Qs o2

C. Aergoe D. S ot2

7. Which one of the following is a types of bolts according to its application?
A. U bolts B. Mating Screw
C. Shoulder Bolts D. All of above
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Ay dlee B. DRoizg
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8. Which washer is used especially on soft materials to distribute load?
A. Flat B. Fender
C. Both of above D. None of above
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9.  Which pipe is used for civil engineering applications?
A. RCC pipe B. Copper pipe
C. Plastic pipe D. Ceramic pipe
¢. RQa A ollaRlowll Awell3ac 12 sa ugusll Guallol Ul 8?
AR Ll wsy B. fluz wsu
C. reu@s wsu D. RRs wsu
10. Identify the pipe fitting from the following options.

A. Valve B. Castiron pipe
C. Coupling D. Allen key
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What is the range of compression ratio For C.I. engine?

A. 6to10 B. 12to 26
C. 1lto5 D. 10to 20
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Which part is not included in four stroke S.I. engine?
A. Piston B. Fuel Injector
C. Spark plug D. Valve
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In four stroke engine the process of removing gases from cylinder is called as

A. Extruding B. Scavenging

C. Exhausting D. None of Above
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Weight of Diesel engine is

A. Less than Petrol engine B. More than Petrol engine

C. Equal to Petrol engine D. None of above
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In four stroke petrol engine Power generation is than two stroke petrol engine.
A. Higher B. Lower

C. None of above D. Moderately lower
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For I.C. engine Brake power is considered as a .

A. Actual power B. Ideal power

C. Theoretical power D. Indicated power
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Deflector is provided in Engine.

A. Two stroke B. Four stroke

C. Both of above D. None of above
BsAse? WA Ml YElot UM WA B,
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In fluid flow if fluid particles are rotate around its flow axis then it is

A. Uniform B. Rotational

C. Steady D. Irrotational
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Ratio of total mass of I.C. engine to its output power is known as

A. Actual power B. Specific Fuel consumption
C. Air Fuel ratio D. Specific weight
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is the measure of compressibility of a fluid.
A. Cohesion B. Surface tension

flow.
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C. Bulk modulus of Elasticity D. Adhesion
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Which is the unit of Surface tension?
A. N/m B. N/m3
C. Nm D. All of above
UBU Solotoll AsH s ©?
A. N/m B. N/m?
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In 1.C. engine the distance between top dead centre and bottom dead centre is known as
A. Piston Area B. Piston speed
C. Stroke Length D. Cylinder volume
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Which is the symbol of specific density as a properties of fluid?

A K B. M

C. S D. E

Yl glott oLl d33 VRS 3{lElell Riolld 520 &2

A. K B. M

C. S D. E

From the following options identify example of Non-Newtonion fluid.
A. Steam B. Air

C. Paints D. Water
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Which of the following is a hoisting equipment?
A. Tripod B. Winch
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C. Wheel conveyer D. BothAandB
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Pump converts Mechanical energy into Energy.

A. Electrical B. Hydraulic

C. Chemical D. None of above

Wy A3(AsA Glasial Qs 3ulcdRc 52 B.

A gsasdlsa B. sedels
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Pressure limit of low pressure air compressor is

A. Above 3 bar B. Below 3 bar

C. BothAandB D. Between 3 and 5 bar

AlaR YAR AR sLYURe(l YR Halel 8.
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Fluid discharge flow rate of the Reciprocating pump is than diffuser type centrifugal
pump.

A. Smaller B. Larger

C. Cannot be cited D. Equalto

AU Uuall 58S (3l sl 22 A (354232 YUsiRell Aol $Yole Wi sl
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Air compressor is used to make air pressure than the atmospheric pressure.
A. Below B. Above

C. Equalto D. None of above
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30. The type of Hydraulic lift is

A. Direct Acting Hydraulic Lift B.' Suspended Hydraulic Lift
C. Both of Above D. None of Above

30. alsAs [@Aseall ust? .
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31. Hydraulic system use the power of

A. Compressed air B. Chemlcal energy
C. Pressurised Water D. Electricity

3. &lBslAs Ren o{l 2U(sclell GUAL 5 B.
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32.  The value of viscosity of Inviscid fluid is .
A. Zero B. Infinite

C. One D. None of above
32, 8(AWls yaglell Ratdtdls] e 8.
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33.  For material compaction which equipment is used?

A. Crane B. Elevator

C. Bull Dozers D. Mixing machine
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34.  Which operation from the following is performed on lathe machine?
A. Drilling B. Chamfering
C. Spot Facing D. Side Milling
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Surface contouring operation can be performed on

A. Drilling machine B. Shaping machine '
C. Milling machine D. Welding machine
UR AULEL 51Ge2(301 vlluRelet 531 2siA B.
A dellor 1allet B. ot 1allet
C. lellot mellet D. aeslot nallet
Identify which of the following are not a product of rolling operation.
A. Blooms B. Sheet
C. Tube D. Falil
ol A AU HI 53] A A(A21 AU ete] Beuteot atell A AL
A ot B. ofle
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The workshop where castings are made is called
A. Foundry B. Machine shop
C. Welding shop D. Smithy shop
51RO wlotllalcl adua s&AHL A B,
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Water tube boilers required floor space per unit power as compare to fire tube
boilers.
A. Less B. More
C. Equal D. Cannot be cited
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A Qe B au
C. el D. g8l aistat ot

Thermal efficiency of Babcock and Wilcox boiler is approximately

A. 60 to0 80 % B. 35%
C. 55% D. 30%
Aosls WA (Aesls dlscRo(l AxA st dl GaLEDL 0.

A g0l ¢o% B. 3yv



C. yuo D. 309

40. Cochran boiler is pressure boiler.
A. High B. Medium
C. Low D. Super High
¥0. SlAReL ClBEAR YAR llBAR B.
A alg B. lflant
C QA D yuR a8

41.  Which one the following is a mounting?
A. Economiser B. Air preheater
C. Man Hole and Mud Hole D. Steam Super Heater
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42.  Which material is used as solder for Soft soldering?

A. Lead B. Indium

C. Tin D. All of Above

¥R, g AesRol ue sal 1dllacsll Gualol Nes? d3d e 82

A dls B. godlan

C. Qo D. Guretl st
43.  From given options which is a type of arc welding?

A. Spot welding B. Laser welding

C. Gas welding D. Plasma arc welding
¥3. AU @Qscuial s20 215 Acslolell As Ysi: 82
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C. d aeslol D. ey 28 Aeslot
44.  Mud hole located at which part of boiler?

A. Near lowest part of boiler shell B. Above shell part of boiler
C. Nowhere in boiler shell D. Near super heater
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Efficiency of Impulse turbine is lower than the reaction turbine.
A. False B. True
C. Partially false D. None of above
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Sl unit of Energy is .

A. Kcal B. Joule /second

C. Joule D. Kcal/second

Glaslotl AAULE AsH ]
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Approximate maximum temperature of Electric Arc welding can be achieved up to
A. 5000 °C B. 7000 °C

C. 4500°C D. 2800°C

B8AS LS ACSIlell HeTlH cdlUHLet Yl Yt 531 asia 8.
A. 4000 °C B. vooo°c

C. yuoo°c D. 2c¢o0°c

For I.C. engine cylinder bore is of working cylinder.
A. Stroke length B. Inner diameter

C. Volume D. None of above
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Identify cause of accident at workplace.

A. Human Error B. Incomplete instructions

C. Lack of Training D. All of Above
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Gear drives are also called drives.

A. Positive B. Negative
C. Neutral D. Main
PlaR ssca SIS URL sEcllHl w1 B,

A QR B. a3dla
C et D Agat
Rivetis a fasteners.

A. Permanent B. Complex
C. Temporary D. All of above
Rae A slead ©.

A gl B. oRct

C. gl D Gualsct ottt o

From the following options which one is a type of belt?
A. Flat belt B. V belt
C. None of Above D. Both of Above
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From the following options which one is a type of casting process?
A. Sand Casting B. Permanent mold casting
C. Investment casting D. All of Above
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The color is painted on oxygen cylinder in Oxy-acetylene welding.

A. Black B. Maroon

C. White D. Blue

W EA-ARRAA Acslownl 291 WEA% A RUASR UR Aol Hl 41A B.
A uis B. 134



55.

wy.

56.

us.

57.

.

58.

uc.

59.

Screw driver is a tool.

A. Hand B. Automatic

C. Power D. All of above
¥ SLBcR A AU B,

A 3os B. andls

C. YR D. Gusd vl o

Bearing supports which element of moving machine?
A. Journal B. Valve
C. Spring D. Screw

ARoL A Yol Hellotell s2uL AAN2A UWE WA B?

A ogelet B. aleca

Scraper is used in accessory in boiler.

A. Steam trap B. Economiser

C. Feed pump D. Steam separator

oA WAUINBHL U GUAL AL B,

A @ 3u B. g8lellusns

C. 4suu D, dluaude?

Material handling is used to transport from one place to another.
A. Coals B. Granite

C. Crude oil D. All of above

HAAadA dos(AdLell GuADL A s wRAMY olost 2N UR et 5cll
HE PR

A et B. Jausse

C. 5508 D. GuRlsc wul o

shaft operates the valves in I.C. engine.
Crank B. Driven
Cam D. Driving

o>

allge 8. WAoot Ui clleelo] AUEAA 5 O
A. %0_8 B. ﬂqc.l.
C. 3 D. sig5ol



60. In Impulse turbine, the shape of moving blades is

A. Aerofoil B. Circular

C. Profile D. Square
50, &UEL 2ullgatu, ($5S oASal WISIR 0.

A QAN B. wsyct?

C. Qe D. sz



Sample Questions Set-2

Which of the following is permanent fastener?
A. Welding B. Button
C. Nut-bolt D. Cotter pin

<Al 4 sl sxigial e9?

A gedla B. op2q

C. qe-sliez D. 522 4

To prevent lubricating oil leakage is used?

A. Flange B. Gasket

C. Washer D. Oil seal
glaslol 2idad ([@sey isal 1l GUALL 2 697

A sdisy B. ouse

C. aqlae D. »idd «la

In a screw thread nominal diameter is equal to ?

A. Root diameter B. Major diameter
C. Effective diameter D. None of above
25 A8 i AlHlad cnn vizq ?

A 3z enn B. Hoxz

C. sy A D. Guzdl sidun -l

Which of the following is rolling contact bearing?

A. Full journal bearing B Ball bearing
C. Thrust bearing D Partial bearing

<Al wigl 2 el sieesz okl 97
A, 54 oyd ozl B. old oizlol
C. azz oizlo D. wasilua cizlol

Which type of spanner is given in bike spanner kit?
A. Tubular box spanner B  Solid box spanner
C. Ring spanner D Monkey wrench

oS5l 2UAZ SIZHI 241 Us1Re, Ul 2UUAL HI 209, 97

A, 264432 g FUAR B. 2dls olla 2u-z
C. <l 2uqz D. izl wq
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Which of the following element is used to connect two shafts:
A. Clutch B. Brake
C. Coupling D. AandC

<Al AL Hizl ol 21s2 4 sxigdl HIZ AL BaH2 L GuAioL 214 99:
A 43 B. s
C. sudla D. AudcC

A rivet is specified by:
A. Shank diameter B. Length of rivet
C. Type of head D. Length of tail

2ld2 Al v 59 2d a9
A, gy Mz
C. ¢l usi

daz €l donsd
2954, <l doisd
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Which of the following have both the ends threaded?
A. Screw B. Stud
C. Screw driver D. Bolt

Al Al Higl siq old 98 w2l ¢ia 9?
A. x5 B. 224
C. 25492 D. oliez

The washer is generally specified by its:

A. Outer diameter B. Hole diameter
C. Thickness D. Mean diameter
Al wlML Zld Al of sl 197

A o8Iz AL Ml B. «la qaMlez

C. e D. dlq siawilz2

A coupling is used to connect two shafts whose axis intersect.
A. Universal coupling B. Oldham’s coupling
C. Bush pin flange coupling D. Clamp coupling

suelol 5 oy of 9edl 4Ll Al gz sxlgal HI2 AURIA €9,
A, faadq sudlo B.  allessiv sudla
C. ogild gdor sudlol D. sdvu sudlol

Which of the following is a positive drive?

A. Flat belt drive B. Wire rope drive
C. V- belt drive D. Chain drive

{121 Higdl 21 w2l glda 9 ?



12.

<.

13.

3.

14.

Y.

15.

u.

16.

o
W

17.

A. sz olez gida B. iz 2y g16a
C. (a6l g15a D. S g1a

Following gears used to connect two non-parallel, non-intersecting shafts:

A. Spur gear B. Bevel gear

C. Spiral gear D. Rackand Pinion

{12 AL wiell 541 ol2A2 6L AUHIAR 2 [HA9EA 2152 A o124l HIZ AUA 97
A 243 oz B. ofldq oflz

C. 2w oflsz D. 25w l[dnq

Idler pulley is used
A. For changing the direction of motion ~ B. For applying tension

C. For increase velocity D. All of this
21562 Yell qun 9

A, afa €l [zal sedal B. dwmug siiual
C. Qo aual D. auug oH) sy

In multi V-belt transmission, if one of the belt is broken, we have to change the

A. Broken belt B. Broken belt and its adjacent belts
C. All the belts D. None of above

Hezl dl-olez 2leuMadul, oxl oleal Higl 5195 2is dZl M 69, dl A0 9 oledd uga?

A qediolee B. d2al viez vt dl otisy L siez
C. oyl dle2 D. 516 um <dl

Due to slip of the belt, the velocity ratio of the belt drive
A. decreases B. increases

C. does not change D. None of above

olez <l 2alu 4 dlA, olez gl5a Al 491 w=iluil
A 929 B. q1al
C. ofzadl 4dl Guz Higl 519 Al

©

V-belts are usually used for
A. longdrives B. shortdrives

C. long and short drives D. None of above

dl-siezl UM Ad GuAial
A, diol g1sd Hi B. a2 g15a Hi
C. didl 24 glie g1 Hi Buz Higdl 515 el

©

Creep in belt drive is due to
A. weak material of the belt B. weak material of the pulley
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C. uneven extensions and contractions

of the belt

0le2 lHAHL 51U 4 5120
A, oiez o doiu] Hedlma
C. olezdl BIAHIA DIs22cUeY, DA AS1AA

The chain drive transmits
A. more

C. equal

ole2 $159 <l ATHIMBIL Hi A G159, Hi
A aquiz
C. ww

What is meant by gear ratio?
A. The ratio of pinion speed and gear speed

C. Both a. and b.

9|42 =il Al (RelloL g 2912
A dlfaad 24l w14 o4z 24l
C. tedAndB
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Al 2=l

D.

B.
D.

B.
D.

expansion of the belt

Yl o doiu] Hedlmg
ole2 <l [Azdz0 4 dlA

power as compared to belt drive.
B.
D.

less
None of above

Ylaz 2le4Hle 21 9.
w191
Guz Higl 516 Al

The ratio of number of teeth on pinion and
number of teeth on gear
None of above

UllaAet Al 212 2440 0022 <L 2l Al 2421l
Buzel s15uBL (e

Which gears are used to connect two intersecting shaft axes?

A. Crossed helical gear

C. Bevel gears

B.
D.

Worm and worm wheel
All of the above

541 Pa2ell GuAlaL oL He2dsZlol As2 axes  5e52 52AL HI2 AL 97

A 51 cdlsa otz
C. olad ofluz

B.
D.

Q¥ 244 AN [Aa
GUR L AAHLSY

The material used for coating the electrode is called

A. protective layer
C. flux

B.
D.

binder
slag

HAs2Ls 512 5241 HI2 QURLAL A1l 9 seAml 2419 897

A yral aar
C. 5e8,

B.
D.

61842
2d9|

Which of the following welding process uses non-consumable electrode?

A. Laser welding
C. MIG welding

B.
D.

TIG welding
Plasma welding
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{12 2uaimial 59 dedlor ulsan Hi [A4-Guelisdl Has2is-l GuAiaL 52 897?
A, dyz el B. Zlaqella
C. lo aedla D. ol

The temperature produced in oxy-hydrogen flame as compared to oxy-acetylene flame is

A. Same B. more
C. less D. None of above

2 [51-21 42l ortldeil A2eUHEIHI 2U[5A-61O3157 4 OrAldHl Geledt 2AG, ALUHLA

A qi s © B. qaR ¢l
C. 2w uidy D.  Guz wial 215 e 4l

The following gas is used in TIG welding process

A. argon B. oxygen

C. acetylene D. hydrogen

Zlon delol wiz Hi A1l Higl 524l Ax quan 972

A w014 B. wiisilor

C. 2lldl D. «igion-

Which of the following welding process uses consumable electrode?
A. Laser welding B. TIG welding

C. MIG welding D. thermit welding

{12 vueimizl 56 dedlor Ul Hi GURlisdl HAsZLsdl GUARL 52 97
A dyz gl B. Zlo gl
C. Hloaella D. azilz dedla

Sprue in casting refers to
A. Gate B. runner
C. riser D. Vertical passage

5122190 Wi 2 Al 9 29 214 97

A o2 B. 242
C. adee D. Gl uzisy

Which of the following processes would produce strongest components?

A. Hotrolling B. forging
C. extrusion D. Coldrolling

<Al2imial 59 uls Al Horord t2sl otdlq?

A gz lda B. silsya
C. wiadud D. sie 2ldol

The important property of a material in all metal forming processes is
A. elasticity B. plasticity



C. ductility D. brittleness

¢, dHIH H2d olladldl ulsnmil Amaildl Heeaul vulx o
A Rafazausd B. taiRzl44l
C. 2dlzl D. [(szaqn

29. Long wires are made by following process
A. rolling B. Drawing
C. extrusion D. None of above
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30. The strength of a properly welded joint as compared to base metal would be
A. Same B. more
C. less D. None of above
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31. Anair preheater
A. Increase evaporative capacity the B. Increase the efficiency of the boiler
boiler
C. Enables low grade fuel to be brunt D. All of this
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32. The fittings mounted on the boiler for its proper and safe functioning is a
A. Water level indicator B. Pressure gauge
C. Safetyvalve D. All of this
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33.  Which of the following is not a boiler mounting?
A. Blow off cock B. Feed check valve
C. Economiser D. Fusible plug
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Which of the following is a water tube boiler?
A. Lancashire B. Babcock and Wilcox
C. Locomotive D. Cochran
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Which of the following is a fire tube boiler?

A. Llancashire B. Babcock and Wilcox
C. AandB D. None of this
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A closed vessel made of steel and use for the generation of steam is called a
A. Steam boiler B. Steam turbine
C. Steam condenser D. Steam injector
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The action of steam in a steam turbine is
A. Static B. Dynamic
C. Static and dynamic D. None of this
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According to IBR, which one should be fitted to the boiler?

A. Economiser B. Air preheater
C. Super heater D. Safetyvalve
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Prime movers is a device which converts natural resources into energy.
A. Electrical B. Mechanical

C. Kinetic D. Thermal
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A machine used to raise the pressure of air is called

A. Turbine B. Compressor
C. Bailor D. Engine
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The power produced inside the cylinder of an |.C.engine is known as
A. Indicated power B. Brake power
C. Friction power D. Allof these
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During suction stroke in a diesel engine, it draws in
A. Mixture of diesel and air B. Mixture of petrol and air
C. Vapour of diesel only D. Onlyair
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The mechanical efficiency of following engine is more
A. Four stroke B. Two stroke
C. Steam engine D. Gasengine
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In a two stroke cycle engine, one cycle is completed in the following number of revolutions

A 2 B. 3
C. 1 D. 4
2 2215 AL el Hi 25 URASE 5261 <UL HI U 2 97
A 2 B. 3
C. 1 D. 4

Which one is link between piston and crank?
A. Connecting rod B. Piston pin
C. Pushrod D. Crankrod
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Petrol engine is
A. Compression ignition engine
C. Mixed ignition engine
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Spark ignition engine
All of above
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The colour of exhaust from diesel engine is generally

A. White B. Black

C. Grey D. violet
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A petrol engine has compression ratio from

A. 61038 B. 10to15

C. 15t025 D. 25t040
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The thermal efficiency of a petrol engine is as compared to diesel engine.
A. Same B. Less

C. More D. None of these
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Petrol engine operates on

A. Otto cycle B. Diesel cycle

C. Dual cycle D. All of these

UY21E Ble | 514

A B2 Hasd B. dlota ulsa

C. 4 us4 D. Gz <l duin

The mass per unit volume is

A. Specific weight B. Mass density

C. Specific gravity D. None of these
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The specific weight of sea water is that of pure water.

A. Same as B. Lessthan

C. More than D. None of these
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Water is liquid.

A. A compressible B. Anincompressible
C. AandB D. None of these
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A flow through a long pipe at constant rate is called
A. Steady uniform flow B. Steady non-uniform flow
C. Unsteady uniform flow D. Unsteady non-uniform flow
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A flow in which the volume of a fluid does not change during flow is called
A. incompressible B. compressible

C. Uniform D. Laminar
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The specific gravity of water is taken as

A. 0.001 B. 0.01

C. 01 D. 1
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A. 0.001 B. 0.01
C. 01 D. 1

A reciprocating pump is also called a displacement pump.

flow.
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A. Positive B. Negative

C. Neutral D. None of these
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The working of which of the following hydraulic units is based on Pascal’s law?
A. Air lift pump B. Jetpump

C. Centrifugal pump D. Hydraulic press
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The compressor ratio for the compressor is always unity.
A. Equal to B. Lessthan

C. More than D. None of these
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The unit of kinematic viscosity is

A. Stoke B. m?/s

C. AandB D. None of these
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